How to create concepts

Abstract reasoning

     To come.


Category combination problems

In this exercise, instead of abstract shapes, you are given descriptions of examples and asked to create a category in the same way you created a concept with the abstract shapes. You are given the following instructions: 

1. Identify the categories for each group.
2. Combine these categories to create a new super-category for all of them and give it a label.
3. Write a brief, one-sentence description of it.
4. List as many additional examples of the super-category as possible.
5. List additional features linking the examples combined in the new category.

Exercise 1:

A.  Brakes; seat; handlebar; wheel.
B.   Dumb-bells; swimming costume; running shoes; tennis racket.
C.   Squash; table tennis; golf; archery.

One answer:

1. Bicycle parts; sporting equipment; sporting activities.
2. The means of promoting an active lifestyle.
3: The bicycle parts are essential for fitness that comes from cycling, the 
    sporting equipment is essential for most sports that promote fitness and sporting 
    activities are an essential part of an active and fit lifestyle. 
4. Cycling clubs, fitness classes, health centres, sports shops, etc. (There is, of course, 
    a wide range of things you could list here. I have settled for just four.)
5. They promote physical skills, like co-ordination, balance, strength and suppleness. 
    They are effective in controlling weight and tackling obesity. They are a means of 
    creating a social network of friends who engage in the same sporting activity.

Exercise 2:

A. Articles; books; newspapers; pamphlets.
B. Teachers; lecturers; trainers; instructors.
C. Desks; chairs; paper; ink.

One answer:

1. Reading material; teaching staff; equipment for study.
2. The elements for learning.
3. All of these things are essential for learning: the reading material contains the knowledge we must learn, the teaching staff teach it and the equipment is the means by which we study.
4. Colleges, universities, schools, libraries, systems of effective communication, training for teachers, educational publishers, etc. 
5. They are the means by which we increase our understanding of the world and of social problems in our societies; they develop the potential of students so they can lead creative and fulfilling lives; they are the means by which we learn how to tackle medical problems, how we can lift people out of poverty by training them for well-paid jobs, etc.

Now try these...

Exercise 3:

A. Oboe; flute; viola; cymbal.
B. Contralto; bass; soprano; alto.
C. Minims; crotchets; quavers; semibreve.

Exercise 4 :

A. Soap; hair colouring; lipstick; perfume.
B. DVDs; CD player; cassettes; speakers.
C. Spectacles; Sun glasses; soft contact lenses; cameras.

Creating concepts

Now create a concept as we did in chapters 4 and 5 of Smart Thinking. Below you will see concepts you have probably come across in the subjects you have studied. I have chosen to tackle ‘Revolution’ on the grounds that we have all used the concept and come across it in our study of history. Once you have analysed it, compare your answer with mine. Remember, there is no right answer: you may see more than me or just different, more subtle aspects of the concept that I have missed. The point is we all learn from each other as we reveal what we understand by the concept in the different contexts in which we have seen it used and the different purposes for which it has been used.

Exercise 1: Revolution

As you have done with the abstract forms above and with the category combination problems, create the concept of revolution. We all use this concept, so we should be able to say in the form of pattern notes or in a written explanation what we think the concept means. 

As you saw in chapter 5 of Smart Thinking, the first step is to assemble examples of revolutions that are as different as possible from each other, like the following:

The French Revolution 1789, 
The Russian Revolution 1917, 
The English Revolution 1649, 
The Portuguese ‘Carnation’ Revolution 1974, 
The Hungarian Revolution 1956, 
The Industrial Revolution,
The Computer Revolution. 

Then create your concept in the same way that you have created your super-categories above. In effect what you are doing is to abstract the general from the concrete by identifying the common characteristics in each of your examples and then isolating them so that you can then put them together to form the concept. 


                    Creating your concept – pattern recognition:

                    1. Identify the common characteristics in your examples.
                    2. Isolate them and put them together to form the concept.


With some concepts you will find that some of the examples you can think up are so different from others that you can find nothing in common between them. In these cases it helps to corral the ones that don’t fit and use then to test your concept later, while you concentrate on the rest from which you can develop a coherent concept. 

In this case it’s clear that the Portuguese Revolution, the Industrial Revolution and the Computer Revolution are all different in significant ways from the others, so concentrate just on the French, English, Russian and Hungarian revolutions and create your concept from these.

One answer:

1. The first characteristic is that they all involved more than just a change within the leadership or the elite ruling group: they involved deep-seated social change. 

2. The scale of each was similar, too, in so far as they involved all society, geographically and socially. 

3. They also involved the concerted use of force and violence to overthrow the established government, unlike the Carnation Revolution and the Industrial and Computer revolutions, which were all largely peaceful. 

4. The pace of change, too, was sudden, a matter of days in some cases, weeks or months in others, unlike the Industrial Revolution, the first phase of which lasted from 1760 to 1850. 

5. They also involved ideas, unlike, say, a population revolution or similar economic revolutions, which involve general social and economic trends. 

6. Finally they all involved radical change in our values and the way we think about rights, freedom and the way we are governed. 

So, now with these six elements we have a concept: a pattern of ideas, which we bring to a discussion each time we use the concept. Below, you can see the concept in the form of pattern notes. Of course, we now have to test it to refine all the distinctions we have made until we get the concept right, which we will do in the next in chapter 5.
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Russian Rev. 1917/Hungarian Rev. 1956
English Rev. 1649/French Rev. 1789
Revolution
part of Russian revolution 1917
Just a failed attempt at revolution
Days, weeks, months
Force/violence
Idea of freedom
Rights
Couldn’t describe a rapid increase in population as a ‘Population Revolution’
Pace of change
Sudden change
Liberal/ capitalist for semi-feudal
Not just a change within leadership/group
Different class or elite group
Different system of government
Hungarian
French
Russian
English
Capitalist for socialist
Socialist for feudal
Republic for monarchy
Reflects deep-seated social change
In ideas/values in the way we think about rights, freedoms and the way we’re governed
Involves ideas
Radical/novel change
Just a coup d’état of forces led by different faction of the elite
e.g. Russia 1905
=
Even though the change in society is thorough and radical
Geographically and socially
Organisation and gathering of sizeable number to overthrow the established government
Involves all society
Scale




















 Now try this ...
Exercise 2: Bribery

Create the concept of ‘Bribery’. Then decide whether or not the following cases amount to bribery. If they are not cases of bribery, what are they? 

1. A restaurant owner in a big city pays ‘insurance’ to a gang to ensure that no damage is done to the restaurant.
2. A businessman, who works in a country with strict regulations controlling the issue of foreign currency, pays an official to allow him to take out of the country more of his own money in foreign currency than he is entitled to.
3. Workers in a factory are awarded a productivity bonus.
4. A removals company earns an additional payment, if they deliver delicate goods intact.
5. A company makes secret payments to officials to have their offer for a contract heard and compared with others competing for the same contract.
6. A waitress earns an additional payment for providing a good service.
7. An importer pays a customs official so he can avoid deliberate bureaucratic obstacles that would have held up for months essential equipment that he has ordered.
8. A salesman starts earning additional payments once he has hit a certain sales target.
9. A pharmaceutical company gives a doctor and his wife an all-expenses holiday at a resort, where the company is hosting a conference.
10. A company pays an official who can guarantee that the company gets the contract for which they have made a bid. 

Exercise 3: Political culture
[bookmark: _GoBack]Create the concept of ‘Truth’ and then explain why the following argument seems to be confusing:

In a political culture where basic, verifiable facts cease to matter, political debate is inevitably debased. Add to that a polarised media, in which people access the truth they seek, rather than the one that exists, and it has given rise to bespoke realities: people don’t just think different things, they know different things. And some of the things they think they know are just wrong. 

Exercise 3: Discontent

Create the concept of ‘Discontent’ and reveal the implications of its use in the following statement:

‘The spread of education is the spread of discontent.’

Exercise 4: Create any of the following concepts:
Needs
Privacy
Authority
Equality
Comedy
Punishment	
Quality of life
Patient autonomy
A teacher’s ‘duty of care’
Poverty
